TH3E FHIKES

] ] TR6H | 2H3H | SHTH | 4H198 | 5A12H 6A2H TR21E | 8HAH | 9ATH | 10A6E | 11AI7H | 12A158
AR HH|_ 11:50 T1:45 14:40 10:15 9:00 13:40 1410 7410 8:55 9:00 9:00 71:15
IE_?H:‘}:! [€.1:3) £ o|l%x oOo|l® o]EK oO[K o] K o [F O]K O|EK L[R O[FKR O][FK D
B3] L] L] f ) L] L] 2] L] L] f ) ] ] ]
KL m[__0.01 0.07 0.01 0.19 0.08 0.08 0.08 0.05 0.07 0.04 0.00 0.02
£33 m3/sec - - - - - - - - - - - -
n |[EXE m|__0.30 0.36 0.29 0.33 0.21 0.18 0.15 017 0.23 017 0.19 0.20
o [EAKE m[ 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
5 [RE c[__38.0 15 12.0 4.5 15.5 245 32.0 30.3 2.5 8.5 8.0 75
A [KE |85 43 8.9 8.8 12.4 16.3 231 25.0 20.0 16.5 8.2 5.9
= A (1) Oko&R) wEED | KEEY | KEEY | KB | KEED | KEEH | KEEY | KEEY | KB | KEED | KEEY | KEEH
B SR (2) (FER) [[E3 [[E3 [[E3 [[E3 [[E3 [:E3 [[E3 [[E3 [[E3 [[E3 [[E3 &3
B (3) OKWRiR) - - - - - - - - - - - -
SR (4) (E0i) - - - - - - - - - - - -
CENE ) £ EIx 2w =2lxE =2|IE 2| K 2 | K& 2K =HiEg =|x =|x =Z|IE =
BRE o[ >100 100 100 100 100 >100 100 100 >100 >100 >100 100
@ﬁ m - - - - - - - - - - - -
TE|pH 7.8 7.3 7.1 71 7.2 7.3 7.2 7.2 T4 7.2 7.3 7.5
%%[BoD me/L|__<0.5 0.5 0.5 0.5 0.5 0.8 0.8 0.8 0.5 0.6 0.5 0.9
fedod G me/L| 0.6 11 1.0 0.7 0.6 0.8 1.5 1.5 1.2 11 0.7 1.6
anss e/l <1 3 3 3 3 3 3 3 3 3 3 3
am[DO me/L|  12.8 12.6 11.6 11.5 10.0 9.9 8.3 8.4 9.9 9.6 11.9 12.9
me | XAMEEE (1) WPN/100m il 13 2 490 49 490 790 1300 790 1400 130 540
B 1< [BER mg/L| 015 0.20 0.10 0.08 0.06 0.14 0.12 014 014 017 017 0.06
LIP> me/L|_0.004 0.003 0.003 0011 0.012 0.018 0.006 0.004 0.015 0.014 0.016 0.009
N me/L| - - = = = = = = = = = =
[Pz me/L| - = = = = = = = = = = =
3 me/L| - = = = = = = - - - - -
6{fiy 0L mg/L - - - - - - - - - - - -
=3 me/L| - = = = = = = = = = = =
BAE e/l - - - - - - - - - - - -
A [FrELEE me/L| - - - = = = = = = = = =
[} PCB me/L - - - - - - - - - - - -
] BYLELEEX P me/L - - - - - - - - - - - -
x me/L| - - - = = - = = = = = =
o |[izspmEzsy we/L| - = = = = = = = = = = =
5 1,1-S/nnxFL> mg/L - - - - - - - - - - - -
= PR 2=SsmaIFLy me/L| - = - - - - - - - - - -
] 1,1,1-FY 50042y mg/L - - - - - - - - - - - -
¥ [|.2-rFZoOoz&y mg/L - - - - - - - - - - - -
3 [rormozzoy me/L| - B B B B B B B B B B B
2 [FrszmEITLY e/l - - - - - - - - - - - -
F 1,3-¥5non7oXy (D—D) mg/L - - - - - - - - - - - -
& [F95& me/L| - = = = = = = = = = = =
B [y (cAT) me/L| - = = = = = = = = = = =
] FARCANTRUFFH—=T) me/L - - - - - - - - - - - -
RoB we/l| - B B B B B - - - - B B
TLY me/L| - - - - - - - - - - - -
WEESRRUENBBER we/L| - - - - - - - - - - - -
SoFK mg/L - - - - - - - - - - - -
E5R me/L| - = = = = = = = = = = =
1, 4a—SAXYY me/L| - = = - - - - - - - - -
g*ﬁiﬂlﬁ ET me/L
FUE= D LBER mg/L| _ 0.01 - 0.01 - <001 = 0.01 = 0.01 = 0.01 =
ELEFES mg/L|_<0.002 - <0.002 - <0.002 - <0.002 - 0002 - 0002 =
me/L|  0.08 = 0.06 = 0.04 = 0.06 = 0.06 = 0.12 =
mg/L|__0.06 = 0.03 = 0.02 = 0.06 = 0.08 = 0.05 =
me/L| - - - - - = 0.09 = = = = =
mg/L| - = = = = = = = = = = =
a [TAFUCBEVY mg/L| <0.003 = <0003 = <0003 = 0.005 = 0.008 = 0.012 =
g [EREALFUOBEBY > me/L| - - - - - - <0003 - = = = =
% [BRERU> 70 - - - - - 0.003 = = = - -
t [Buz me/l| - - - - - - - - = = = =
B |["EEEX (T0C) me/L| - - - - - - 0.9 - - - - -
B [WMMcop me/L = = = = = = = = = = = -
J0074)la ue/L 1 - < - < - <1 = <1 = <1 =
2z 24FY (FzFER) ue/L 2 - <1 - <1 - <1 - <1 - <1 -
#0241 ug/L - - - - - - - - - - - -
SR me/L| 8.1 8.0 8.4 71 10 10 [ 12 12 [ 9 7
BWTS5 7 FoRR WAE/ml| 51 - 100 = 41 = 469 = 487 = 239 =
(WIS o Fo 8k %/ - - - - - - 2 - - - - -
PIT-E N mg/L = = - - - - - - - - - -
FS52R-1,2-Y50R0TFLY mg/L - - - - - - - - - - - -
1,2->7an70/8> me/L - - - - - - - - - - - -
p—SoRERVEY mg/L - - - - - - - - - - - -
{IXFFAY me/L| - - - - - - - - - - = =
A7)~ we/L - - - - - - - - - - - -
Sr=kOoFxo (MEP) me/L| - = = - - - - - - - - -
1IIOFA5> mg/L[ - - - - - - - - - - - -
AXT @ Gl 7 - - - - - - - - - - -
s0p4s0=)L (TPN) mg/L - - - - - - - - - - - -
E [JOe¥sF me/L| - - - - - - - - - - - -
2 mmrceErw me/L[ - - - - - - - - - - - -
= S5 ALKRR (DDVP) mg/L - - - - - - - - - - - -
4 5z/FANT (BPMC) mg/L| - - - - - - - - - - = =
470RvkR (1BP) me/L - - - - - - - - - - - -
JoL=rA7zY (CNP) mg/L - - - - - - - - - - - -
(e meg/L - - - - - - - - - - - -
FULY mg/L| - - - - - - - - - - = =
IHELBTIFAAZIN me/L - - - - - - - - - - - -
=N mg/L - - - - - - - - - - - -
[ EED] me/L| - = - - - - - - - - - -
FUFEY me/L| - - - - - = - - - - - -
SoFK me/L - - - - - - - - - - - -
E5R me/L| - - - - - - - - - = = =
ﬁﬂé BE Bl o2 0.2 0.2 0.2 0.2 0.2 0.4 0.2 0.2 0.2 0.2 0.2
[wEE ms/m - - - - - - 6.5 - - - - -
20k IR K o B {E/100mL 1 - 3 - - 76 - 10 - 2 -
1A R H mg/L| - - - - - = - - - - - -
B e/l - - - - - - - - - - - -

#ERPO T—) FHEERELTVEVIEEFRY




